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Section : Physics

Q1
The Wheatstone bridge shown in Fig. here,

gets balanced when the carbon resistor used
as R] has the colour code (Orange, Red,
Brown). The resistors R, and R, are 80 ()
and 40 £}, respectively.

Assuming that the colour code for the
carbon resistors gives their accurate values,
the colour code for the carbon resistor, used
as Ry, would be :

options ; Brown, Blue, Brown

2. Brown, Blue, Black

3. Red, Green, Brown

4 Grey, Black, Brown

Question ID : 41652910434
Option 1 ID : 41652941197
Option 2 ID : 41652941196
Option 3 ID : 41652941195
Option 4 ID : 41652941194
Status : Answered
Chosen Option : 2

Q2  (Consider the nuclear fission
Ne20 —» 2He! + C12

Given that the binding energy/ nucleon of
Ne20, He* and C!2 are, respectively,
8.03 MeV, 7.07 MeV and 7.86 MeV , identify

the correct statement :

Options ; energy of 12.4 MeV will be supplied
2. 8.3 MeV energy will be released
3. energy of 3.6 MeV will be released
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4. energy of 11.9 MeV has to be supplied
Question ID : 41652910431
Option 1 ID : 41652941184
Option 2 ID : 41652941185
Option 3 ID : 41652941183
Option 4 ID : 41652941182
Status : Not Answered
Chosen Option : --
Q3 A hoop and a solid cylinder of same mass
P 3
and radius are made of a permanent
magnetic material with their magnetic
moment parallel to their respective axes.
But the magnetic moment of hoop is twice
of solid cylinder. They are placed in a
uniform magnetic field in such a manner
that their magnetic moments make a small
angle with the field. If the oscillation
periods of hoop and cylinder are Ty, and T,
respectively, then:
Options Th = Tc
2. Th =2I c
3. Ty, =1.5T
4. T, =05T,
Question ID : 41652910424
Option 1 ID : 41652941156
Option 2 ID : 41652941155
Option 3 ID : 41652941157
Option 4 ID : 41652941154
Status : Not Answered
Chosen Option : --
Q4  An unknown metal of mass 192 g heated
to a temperature of 100°C was immersed
into a brass calorimeter of mass 128 g
containing 240 g of water at a temperature
of 8.4°C. Calculate the specific heat of the
unknown metal if water temperature
stabilizes at 21.5°C. (Specific heat of brass
is.C*:‘Ehl]kg'T K‘])
Options 1 458 1 kg' 1 -1
2. 1232 Jkg~ 11
3. 916 ]kg"T K1
4. p54 ]kg'T K1
Question ID : 41652910435
Option 1 ID : 41652941199
Option 2 ID : 41652941201
Option 3 ID : 41652941198
Option 4 ID : 41652941200
Status : Not Answered
Chosen Option : --
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%% Twoidentical spherical balls of mass M and
radius R each are stuck on two ends of a
rod of length 2R and mass M (see figure).
The moment of inertia of the system about
the axis passing perpendicularly through
the centre of the rod is :

Options 137
1.

Question ID : 41652910412
Option 1 ID : 41652941107
Option 2 ID : 41652941106
Option 3 ID : 41652941109
Option 4 ID : 41652941108
Status : Answered
Chosen Option : 1

Q¢ The self induced emf of a coil is 25 volts.
When the current in it is changed at
uniform rate rom 10 Ato25 Ainls, the
change in the energy of the inductance is:

Options 1. 740 ]
2.4375]

3. 540
4 6375]

Question ID : 41652910426
Option 1 ID : 41652941165
Option 2 ID : 41652941162
Option 3 ID : 41652941163
Option 4 ID : 41652941164
Status : Answered
Chosen Option : 3

Q.7
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The actual value of resistance I, shown in
the figure is 30 {}. This is measured in an
experiment as shown using the standard

Vv
formula R= T, where V and 1 are the

readings of the voltmeter and ammeter,
respectively. If the measured value of R is
5% less, then the internal resistance of the
voltmeter is:

T
v

Options 1 @00 £}
5700
33510
3500
Question ID : 41652910423
Option 1 1D : 41652941153
Option 2 ID : 41652941151
Option 3 ID : 41652941150
Option 4 ID : 41652941152
Status : Answered
Chosen Option : 2
Q8 At some location on earth the horizontal
component of earth’s magnetic field is
18 %1076 T. At this location, magnetic
needle of length 0.12 m and pole strength
1.8 Am is suspended from its mid-point
using a thread, it makes 45° angle with
horizontal in equilibrium. To keep this
needle horizontal, the vertical force that
should be applied at one of its ends is :
options1 36 x10"° N
218x10"°>N
3. 13x10°°N
4 65x10"°N
Question ID : 41652910425
Option 1 ID : 41652941161
Option 2 ID : 41652941159
Option 3 ID : 41652941160
Option 4 1D : 41652941158
Status : Answered
Chosen Option : 4
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—r —

Two vectors A and B have equal
fr i .

magnitudes. The magnitude of (A + B)

is ‘n’ times the magnitude of (E = E) The

— e
angle between A and B is:

Options o
-1 |n -1
1. cos _75____
n° +1
-1 [n-1
2. cos
 n+1
. =1 I‘IE—I
3. sin 5
| n” +1
=1 | N — 1
4. SIn
n+1

Question ID

Option 2 ID

Option 4 ID

: 41652910407
Option 1 ID :
: 41652941087
Option 31D :
: 41652941089

Status :
Chosen Option :

41652941086

41652941088

Not Answered

Q10 A metal plate of area 1x10~% m? is

illuminated by a radiation of intensity
16 mW/ m2. The work function of the metal
is 5 eV. The energy of the incident photons
is 10 eV and only 10% of it produces photo
electrons. The number of emitted photo
electrons per second and their maximum
energy, respectively, will be
[1eV=16x10"197]

Options ;101 and 10 eV
2.102 and 5 eV
3. 10Mand 5 eV
4100 and 5 eV

Question ID :
Option 1 ID :

Option 2 ID

Option 4 ID

41652910430
41652941181

1 41652941180
Option 31D :

41652941179

: 41652941178
Status :
Chosen Option :

Answered
3

Qi1
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A particle which is experiencing a force,

given by ;:3_{ - ]2?, undergoes a

s e

displacementof d=4 i .If the particle had
a kinetic energy of 3 | at the beginning of
the displacement, what is its kinetic energy
at the end of the displacement ?

Options ¢ 9 ]

2. 12]

3. 10]

4. 157
Question ID : 41652910410
Option 1 ID : 41652941100
Option 2 ID : 41652941099
Option 3 ID : 41652941101
Option 4 ID : 41652941098

Status : Not Answered
Chosen Option : --
Q.12

Consider a Young's double slit experiment
as shown in figure. What should be the slit
separation d in terms of wavelength A such

that the first minima occurs directly in front
of the slit (5;) ?

’T _!_5_1 _____________ l? 115t minima
Source
Ly
le—— 2 d —! Screen
Options M
b o2(v5 - 2)
A
> (V5-2)
A
* 2(5-2)
A

Question ID : 41652910429
Option 1 ID : 41652941175
Option 2 ID : 41652941174
Option 3 ID : 41652941177
Option 4 ID : 41652941176
Status : Answered
Chosen Option : 1

Q.13
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The eye can be regarded as a single
refracting surface. The radius of curvature
of this surface is equal to that of cornea
(7.8 mm). This surface separates two media
of refractive indices 1 and 1.34. Calculate
the distance from the refracting surface at
which a parallel beam of light will come to
focus.

Options | 1 em

2. 2cm

3. 4.0 cm

4 31 cm

Question ID : 41652910428
Option 1 ID : 41652941171
Option 2 ID : 41652941170
Option 3 ID : 41652941173
Option 4 ID : 41652941172
Status : Not Answered
Chosen Option : --

Q14 A current of 2 mA was passed through an
unknown resistor which dissipated a
power of 44 W. Dissipated power when

anideal power supply of 11V is connected
across it is :

options 1 11 %10~ 5 W
2. 11x1073W
3 11x1074W
4 11 x10°W

Question ID : 41652910422
Option 1 ID : 41652941148
Option 2 ID : 41652941146
Option 3 ID : 41652941147
Option 4 ID : 41652941149
Status : Not Answered
Chosen Option : --

Q15  The diameter and height of a cylinder are
measured by a meter scale to be 12.6 £0.1
cm and 34.2£0.1 cm, respectively. What
will be the wvalue of its volume in
appropriate significant figures ?

Options 1. 4264 + 81 cm?3
2. 4264.4+81.0 cm®

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083018231/208301823156D49871/154...

3. 4260+ 80 cm?

4. 4300+ 80 cm?
Question ID : 41652910406
Option 1 ID : 41652941084
Option 2 ID : 41652941082
Option 3 ID : 41652941083
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Option 4 ID : 41652941085
Status : Not Answered
Chosen Option : --

Q18 Four equal point charges Q each are placed
in the xy plane at (0, 2), (4, 2), (¢, —2) and
(0, —2). The work required to put a fifth
charge Q at the origin of the coordinate
system will be :

Options

Eoal o
1. Aireg [1 + ﬁ]

Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :
: Not Answered
Chosen Option :

Status

41652910421
41652941145
41652941142
41652941143
41652941144

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083018231/208301823156D49871/154...

Q17 The modulation frequency of an AM radio
station is 250 kHz, which is 10% of the
carrier wave. If another AM station
approaches you for license what broadcast
frequency will you allot ?
Options1. 2750 kHz
2. 2900 kHz
3. 2250 kHz
4. 2000 kHz
Question ID : 41652910433
Option 1 ID : 41652941192
Option 2 ID : 41652941193
Option 3 ID : 41652941191
Option 4 ID : 41652941190
Status : Not Answered
Chosen Option : --
Q18 A closed organ pipe has a fundamental
frequency of 1.5 kHz. The number of
overtones that can be distinctly heard by a
person with this organ pipe will be :
(Assume that the highest frequency a
person can hear is 20,000 Hz)
Options 1 6
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2. 4
3. 7
4. 5
Question ID : 41652910418
Option 1 ID : 41652941130
Option 2 ID : 41652941132
Option 3 ID : 41652941131
Option 4 ID : 41652941133
Status : Answered
Chosen Option : 1
Q.19 S
For the circuit shown below, the current
through the Zener diode is :
5 ki
HANN
120 V— N50V 10 k()
Options 1 g mA
2. 5mA
3. Zero
4. 14 mA
Question ID : 41652910432
Option 1 ID : 41652941189
Option 2 ID : 41652941187
Option 3 ID : 41652941186
Option 4 ID : 41652941188
Status : Not Answered
Chosen Option : --
Q.20 o :
The electric field of a plane polarized
electromagnetic wave in free space at time
t=01is given by an expression
.—) Fa
E (x, y) = 10 j cos [(6x + 82)]
—
The magnetic field B (x, z, t) is given
by : (cis the velocity of light)
Options '1
= [6k + 81) cos [(6x — 8z + 10 ¢t)]
C
1 [ A A)
2. — \6k —8i/ cos [(6x + 8z — 10 ct)]
C
1 [ A ,«)
3. = \6k +8i) cos [(6x + 8z — 10 ct)]
C
1)
4. — \6k —8i/ cos [(6x + 8z + 10 ct)]
C
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Question ID : 41652910427
Option 1 ID : 41652941167
Option 2 ID : 41652941166
Option 3 ID : 41652941168
Option 4 ID : 41652941169
Status : Answered
Chosen Option : 4

Q21 Charges —q and +q located at A and B,

respectively, constitute an electric dipole.
Distance AB=2a, O is the mid point of the
dipole and OP is perpendicular to AB. A
charge Q is placed at P where OP=y and
y >> 2a. The charge Q experiences an
electrostatic force F. If Q is now moved
along the equatorial line to P’ such that

OP' = (%], the force on Q will be close
to: {% >> 23]
P
Q4P
. O . B
—q +q

-m--eeot

Options | 3F

F
2. .-

3
3. 9F

4. ZF

Question ID : 41652910420
Option 1 ID : 41652941139
Option 2 ID : 41652941138
Option 3 ID : 41652941140
Option 4 ID : 41652941141
Status : Answered
Chosen Option : 3

Q22 Tyo stars of masses 3 x 1031 kg each, and

atdistance 2 % 10! mrotate in a plane about
their common centre of mass O. A
meteorite passes through O moving
perpendicular to the star’s rotation plane.
In order to escape from the gravitational
field of this double star, the minimum
speed that meteorite should have at Ois :

(Take Gravitational constant
G=6.67x10" 11 Nm?2kg~?)

Options
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1. 24x10* m/s

2.14x10° m/s

3.38x10¥ m/s
4.28x10° m/s

Question ID : 41652910413
Option 1 ID : 41652941113
Option 2 ID : 41652941112
Option 3 ID : 41652941111
Option 4 ID : 41652941110
Status : Answered
Chosen Option : 2

Q23 Half mole of an ideal monoatomic gas is

heated at constant pressure of 1 atm from
20°C to 90°C. Work done by gas is close
to: (Gas constant R=8.31 J/mol-K)

Options | 5311
2. 291]
3. 146 ]
4. 73]

Question ID : 41652910415
Option 1 ID : 41652941118
Option 2 ID : 41652941119
Option 3 ID : 41652941120
Option 4 ID : 41652941121
Status : Answered
Chosen Option : 2

Q24 A parallel plate capacitor having
capacitance 12 pF is charged by a battery
to a potential difference of 10 V between
its plates. The charging battery is now
disconnected and a porcelain slab of
dielectric constant 6.5 is slipped between
the plates. The work done by the capacitor
on the slabis :

Options 1 692 p]
2. 508 pJ
3. 560 p]
4. 600 p]

Question ID : 41652910419
Option 1 ID : 41652941136
Option 2 ID : 41652941134
Option 3 ID : 41652941137
Option 4 ID : 41652941135
Status : Answered
Chosen Option : 3

Q.25
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Options ¢ 10 m

2. bm

3. 3m

4. 9m
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A particle starts from the origin at time t=0
and moves along the positive x-axis. The
graph of velocity with respect to time is
shown in figure. What is the position of
the particle at time t=5s?

Question ID : 41652910408
Option 1 ID : 41652941092
Option 2 ID : 41652941091
Option 3 ID : 41652941090
Option 4 ID : 41652941093
Status : Answered
Chosen Option : 2
Q.26 A rigid massless rod of length 31 has two
masses altached at each end as shown in
the figure. The rod is pivoted at point P’ on
the horizontal axis (see figure). When
released from initial horizontal position, its
instantaneous angular acceleration will
be :
y i -t 21 *
5 3
5M, | 2M,
Options
| i
131
, &
31
3 &
21
g
4, —=
31
Question ID : 41652910411
Option 1 ID : 41652941105
Option 2 ID : 41652941103
Option 3 ID : 41652941102
Option 4 ID : 41652941104
Status : Answered
Chosen Option : 2
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Q27 Two forces P and Q, of magnitude 2F and
3F, respectively, are at an angle 6 with each

other. If the force Q is doubled, then their
resultant also gets doubled. Then, the angle
0is:

Options 1 17()°
2. 60"
3. gQ°

4. 3=

Question ID : 41652910409
Option 1 ID : 41652941097
Option 2 ID : 41652941095
Option 3 ID : 41652941096
Option 4 ID : 41652941094
Status : Answered
Chosen Option : 4

Q28 A cylindrical plastic bottle of negligible
mass is filled with 310 ml of water and left
floating in a pond with still water. If
pressed downward slightly and released,
it starts performing simple harmonic
motion at angular frequency w. If the radius
of the bottle is 2.5 cm then w is close
to : (density of water =10° kg/m?)

Options ;1 375 rad 5~ !
2.125rad s~ !

3. 250rad s~
4.500rad s !

Question ID : 41652910414
Option 1 ID : 41652941116
Option 2 ID : 41652941114
Option 3 ID : 41652941115
Option 4 ID : 41652941117
Status : Not Answered
Chosen Option : --

Q29 A particle executes simple harmonic
motion with an amplitude of 5 cm. When
the particle is at 4 cm from the mean
position, the magnitude of its velocity in SI
units is equal to that of its acceleration.
Then, its periodic ime in seconds is :

Options 47

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLModel//2083018231/208301823156D49871/15...
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Chosen Option :

7
4., —T
3
Question ID : 41652910417
Option 1 1D : 41652941126
Option 2 ID : 41652941128
Option 3 ID : 41652941127
Option 4 ID : 41652941129
Status : Answered
Chosen Option : 3
Q.30 : ’
Two kg of a monoatomic gas is ata pressure
of 4x10* N/m?2 The density of the gasis
8 kg/m’. What is the order of energy of
the gas due to its thermal motion ?
Options 1 103]
2. 10° ]
3. 104]
4. 109]
Question ID : 41652910416
Option 1 ID : 41652941122
Option 2 ID : 41652941124
Option 3 ID : 41652941123
Option 4 ID : 41652941125
Status : Not Answered

Section : Chemistry

Haemoglobin and gold sol are examples
of :

Optionsl positively and negatively charged
" sols, respectively

2. positively charged sols
3. negatively charged sols

Q1
The ground state energy of hydrogen atom
is —13.6 eV. The energy of second excited
state of He* ionin eV is:
Options | 54 4
2. —-34
3. —604
4. =272
Question ID : 41652910458
Option 1 1D : 41652941290
Option 2 ID : 41652941292
Option 3 ID : 41652941293
Option 4 ID : 41652941291
Status : Answered
Chosen Option : 2
Q.2
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negatively and positively charged
* sols, respectively
Question ID : 41652910465
Option 1 ID : 41652941320
Option 2 ID : 41652941318
Option 3 ID : 41652941319
Option 4 ID : 41652941321
Status : Answered
Chosen Option : 1
Q3 The major product of the following reaction
is :
I\(O ~r 3¢ dil. HCl/A
(ii) {COGH)Q,/
Polymerisation
Options
1o 7
OCH
T
o L om
H
0
O
S N
-~ “OH
Question ID : 41652910443
Option 1 1D : 41652941231
Option 2 ID : 41652941230
Option 3 ID : 41652941233
Option 4 ID : 41652941232
Status : Answered
Chosen Option : 1
Q.4 ;
The amount of sugar (C,H,,0,,) required
to prepare 2L of its 0.1 M aqueous solution
is:
Options 1 136.8 g
2.171¢g
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3.68.4¢

4 3M2g

Question ID : 41652910456
Option 1 ID : 41652941285
Option 2 ID : 41652941284
Option 3 ID : 41652941283
Option 4 ID : 41652941282
Status : Answered
Chosen Option : 3

Q5 Among the following reactions of
hydrogen with halogens, the one that
requires a catalyst is :

Options ; - H,+1, » 2 HI

2. Hy+Cl, -» 2 HCI
3. H;+Br, » 2HBr
4. Hy+F, > 2HF

Question ID : 41652910448
Option 1 ID : 41652941253
Option 2 ID : 41652941251
Option 3 ID : 41652941252
Option 4 ID : 41652941250
Status : Answered
Chosen Option : 2

%% 51 g NH,SH is introduced in 3.0 L

evacuated flask at 327°C. 30% of the solid
NH,SH decomposed to NH; and H,S as
gases. The of the reaction at 327°C
is (R=0.082 L atm mol ~ 1K ~1, Molar mass
of S=32 g mol~1, molar mass of
N=14g mol 1)

Options ;0242 x 10~ 4 atm?
2. 1%10~4 atm?
3. 49x10 3 atm?

4. 0.242 atm?

Question ID : 41652910462
Option 1 ID : 41652941309
Option 2 ID : 41652941306
Option 3 ID : 41652941307
Option 4 ID : 41652941308
Status : Answered
Chosen Option : 1

27 The reaction that is NOT involved in the
ozone layer depletion mechanism in the
stratosphere is:

Options

1. CFyCly(g) —®— Cl(g) + CECl(g)

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083018231/208301823156D49871/15... 16/38
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> CO(g) +O(g) —~ Cl(g) + Oa(g)
3. CH,+20,>3CH,=0+3H,0

ho

2. HOC(g) —» OH(g) + Cl(g)

Question ID : 41652910455
Option 1 ID : 41652941281
Option 2 ID : 41652941279
Option 3 ID : 41652941280
Option 4 ID : 41652941278
Status : Answered
Chosen Option : 2

Q8 In the cell

Pt(s) Hy(g, 1bar)[HCl(aq)| AgCl(s)|Ag(s)| Pt(s)
the cell potential is 0.92 V when a 106
molal HC solution is used. The standard
electrode potential of (AgCl/Ag,Cl™)
electrode is:

2303RT

F

{ Given, = 0.06 V at 298 K}

Options ; .94V

2. 076V

3. 040V
4. 020V

Question ID : 41652910463
Option 1 ID : 41652941313
Option 2 ID : 41652941311
Option 3 ID : 41652941310
Option 4 ID : 41652941312
Status : Answered
Chosen Option : 1

Q9 The 715t glectron of an element X with an
atomic number of 71 enters into the
orbital :

Options 1. 6

P
2. 4Af
3. 5d

4. bs

Question ID : 41652910446
Option 1 ID : 41652941245
Option 2 ID : 41652941243
Option 3 ID : 41652941244
Option 4 ID : 41652941242
Status : Answered
Chosen Option : 3

Q.10
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The correct match between item ‘1’ and

item “IT" is :
Item T Item ‘II"
(compound) (reagent)
(A) Lysine (P)  1-naphthol
(B) Furfural (Q) ninhydrin
(C) Benzylalcohol (R) KMnO,
(D) Styrene (S) Ceric
ammonium
nitrate

Options 3 (A)-»(Q); (B) »(P); (C)»(S); (D) »(R)

2 (A)(Q); (B) »(P); (C) >(R); (D) >(5)
3. (A)>(R); (B) »(P) (C)»(Q); (D) »(5)
4. (A)(Q); (B) > (R); () (5); (D)>(P)

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLModel//2083018231/208301823156D49871/15...

Question ID : 41652910445
Option 1 ID : 41652941240
Option 2 ID : 41652941238
Option 3 ID : 41652941239
Option 4 ID : 41652941241
Status : Answered
Chosen Option : 1
Q11 An aromatic compound ‘A" having
molecular formula C;H, O, on treating with
aqueous ammonia and heating forms
compound ‘B’. The compound ‘B’ on
reaction with molecular bromine and
potassium hydroxide provides compound
‘C" having molecular formula CﬁH.;,N. The
structure of A’ is:
Options C
LN O0H
%‘*“Qf’
1
~0o~  CH=CH-CHO
A~ CHO
s
~~""~OH
QHC
%_
4 ]
Question ID : 41652910441
Option 1 ID : 41652941222
Option 2 ID : 41652941225
Option 3 ID : 41652941223
Option 4 ID : 41652941224
Status : Answered
Chosen Option : 1
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Q12 The process with negative entropy change
is :
Options  Dyjssaciation of CaS0,(s) to CaO(s)
1.
and SO;4(g)

2. Sublimation of dry ice
3. Dissolution of iodine in water

Synthesis of ammonia from
N, and H,

Question ID : 41652910460
Option 1 ID : 41652941300
Option 2 ID : 41652941298
Option 3 ID : 41652941299
Option 4 ID : 41652941301
Status : Not Answered
Chosen Option : --

13 i .
Q An ideal gas undergoes isothermal
compression from 5 m? to 1 m? against a
constant external pressure of 4 Nm ~2. Heat
released in this process is used to increase
the temperature of 1 mole of Al. If molar
heat capacity of Al is 24 ] mol 'K~ 1, the
temperature of Al increases by :
Options :
L 3k
2
2. 2K
2
3. — K
3
4. 1K
Question ID : 41652910459
Option 1 ID : 41652941297
Option 2 ID : 41652941296
Option 3 ID : 41652941295
Option 4 ID : 41652941294
Status : Answered
Chosen Option : 3
Q.14

Elevation in the boiling point for 1 molal
solution of glucose is 2 K. The depression
in the freezing point for 2 molal solution of
glucose in the same solvent is 2 K. The
relation between Ky and K, is :

Options | Kb=1.5 Kf

3. Ky=05K,

Question ID : 41652910461
Option 1 ID : 41652941302
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Option 2 ID : 41652941304
Option 3 ID : 41652941303
Option 4 ID : 41652941305
Status : Answered
Chosen Option : 1

Q15 The major product of the following reaction
is :
()]
CHN«__~__~__J_ NaBH
3 = 4
Options OH
1. CHE_N\/W\

OH

2. CHg.N\/\/\/J\
O

3. CHaNH\/\/\)\
OH

* CHaNH\/\/“\)\

Question ID : 41652910438
Option 1 ID : 41652941212
Option 2 ID : 41652941211
Option 3 ID : 41652941213
Option 4 ID : 41652941210
Status : Answered
Chosen Option : 4

Q16 Sodium metal on dissolution in liquid
ammonia gives a deep blue solution due to
the formation of :

Options ;  sodium-ammonia complex
2. sodamide
3. sodium ion-ammonia complex

4, ammoniated electrons

Question ID : 41652910449
Option 1 ID : 41652941255
Option 2 ID : 41652941254
Option 3 ID : 41652941256
Option 4 ID : 41652941257
Status : Answered
Chosen Option : 3

Q17 For an elementary chemical reaction,
d[A]
dt

s e

5 2A , the expression for

is:
ORI Ky [A] ~ Ky [AP
2. 2Zky[Ag]—k_q [AP?
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3. k[A]+k_; [AP
4. 2k [A] -2k _, [A]?

Chosen Option :

Question ID : 41652910464
Option 1 ID : 41652941314
Option 2 ID : 41652941316
Option 3 ID : 41652941317
Option 4 ID : 41652941315
Status : Answered
Chosen Option : 2
Q.18 ; e
Which of the following tests cannot be used
for identifying amino acids ?
Options 1 Biyret test
2. Barfoed test
3. Ninhydrin test
4. Xanthoproteic test
Question ID : 41652910444
Option 1 ID : 41652941236
Option 2 ID : 41652941235
Option 3 ID : 41652941237
Option 4 ID : 41652941234
Status : Not Answered

Options

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLModel//2083018231/208301823156D49871/15...

The major product obtained in the
following reaction is :

L, e

0

CO,Et
NaOEt/A
_—

CO,Et

.19 ; : ]
Q The difference in the number of unpaired
electrons of a metal ion inits high-spin and
low-spin octahedral complexes is two. The
metal ion is:
Options 1. Ni2 +
2. Fe2*
3. Co2t
4. Mn?*
Question ID : 41652910453
Option 1 ID : 41652941270
Option 2 ID : 41652941273
Option 3 ID : 41652941272
Option 4 ID : 41652941271
Status : Not Answered
Chosen Option : --
Q.20
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O
2.
CO,Et
@]
4,
CO,Et
Question ID : 41652910439
Option 1 ID : 41652941215
Option 2 ID : 41652941216
Option 3 ID : 41652941217
Option 4 ID : 41652941214
Status : Answered
Chosen Option : 3
Q21 The pair that contains two P—H bonds in
each of the oxoacids is :
Options
2. Hy,PO, and H,P,0,
3. HyPO, and H,PO,
4. HP,05 and H,PO,
Question ID : 41652910450
Option 1 ID : 41652941261
Option 2 ID : 41652941260
Option 3 ID : 41652941258
Option 4 ID : 41652941259
Status : Answered
Chosen Option : 4
Q22 Which is the most suitable reagent for the
following transformation ?
OH
I
CH,—CH=CH-CH,—CH-CH, —
CH;—CH =CH— CH,CO,H
Options ; Tqllen’s reagent
2. I,/NaOH
3. CrO,Cl,/CS,
4. alkaline I(]'_"»'[WC)4
Question ID : 41652910442
Option 1 ID : 41652941226
Option 2 ID : 41652941227
Option 3 ID : 41652941229
Option 4 ID : 41652941228
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Status : Answered
Chosen Option : 2
Q28 What is the IUPAC name of the following
compound ?
H
H
CH, Br
Options; 3 Bromo-1, 2-dimethylbut-1-ene
3-Bromo-3-methyl-1,
2-dimethylprop-1-ene
3. 2-Bromo-3-methylpent-3-ene
4. 4-Bromo-3-methylpent-2-ene
Question ID : 41652910436
Option 1 ID : 41652941203
Option 2 ID : 41652941202
Option 3 ID : 41652941205
Option 4 ID : 41652941204
Status : Answered
Chosen Option : 3
Q24  The number of 2-centre-2-electron and
3-centre-2-electron bonds in BEH&,
respectively, are :
Options ¢ Zand 1
2. 4and?2
3. 2and?2
4. 2and4
Question ID : 41652910451
Option 1 ID : 41652941265
Option 2 ID : 41652941263
Option 3 ID : 41652941262
Option 4 ID : 41652941264
Status : Answered
Chosen Option : 3
Q.25 ) :
In the reaction of oxalate with
permanganate in acidic medium, the
number of electrons involved in producing
one molecule of CO, is :
Options 1 1
2. 10
3.
4. 5
Question ID : 41652910452
Option 1 ID : 41652941267
Option 2 ID : 41652941269
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Option 3 ID : 41652941268
Option 4 ID : 41652941266
Status : Not Answered
Chosen Option : --

Q26 A reaction of cobalt(IIl) chloride and
ethylenediamine in a 1 : 2 mole ratio
generates two isomeric products A (violet
coloured) and B (green coloured). A can
show optical activity, but, B is optically
inactive. What type of isomers does
A and B represent ?

Options 1 Geometrical isomers
2. Coordination isomers
3. Linkage isomers

4. Jonisation isomers

Question ID : 41652910454
Option 1 ID : 41652941275
Option 2 ID : 41652941274
Option 3 ID : 41652941277
Option 4 ID : 41652941276
Status : Not Answered
Chosen Option : --

Q27  The electrolytes usually used in the
electroplating of gold and silver,
respectively, are :

Options 1. [Au(CN),] ~ and [Ag(CN),] -
2. [Au(CN),]~ and [Ag CL]~
2. [Au(OH),]~ and [Ag(OH),] -

4. [Au(NH;),] " and [Ag(CN),]

Question ID : 41652910447
Option 1 ID : 41652941246
Option 2 ID : 41652941248
Option 3 ID : 41652941249
Option 4 ID : 41652941247
Status : Answered
Chosen Option : 2

Q28 A compound of formula A_B, has the hcp
lattice. Which atom forms the hcp lattice
and what fraction of tetrahedral voids is
occupied by the other atoms :

Options

2
hcp lattice - A, E Tetrahedral

voids - B

1
) hcp lattice - A, E Tetrahedral

voids - B
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. 2
hcp lattice - B, 5 Tetrahedral
voids - A
) 1
hcp lattice - B, 3 Tetrahedral
4
voids - A
Question ID : 41652910457
Option 1 ID : 41652941286
Option 2 ID : 41652941288
Option 3 ID : 41652941287
Option 4 ID : 41652941289
Status : Answered
Chosen Option : 1
Q29 The major product of the following reaction
is :
ez
OH
= ‘ (i) ag. NaOH
_—
- (ii) CH,l
Options
CH,
OH
1.
CH,
CH,
2 3
OH
3.
CH,
OH
s
~ ]
1 -‘“\-\_‘_\-
CI—I3
Question ID : 41652910440
Option 1 ID : 41652941218
Option 2 ID : 41652941221
Option 3 ID : 41652941219
Option 4 ID : 41652941220
Status : Answered
Chosen Option : 1
Q.30
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What will be the major product in the
following mononitration reaction ?
HN03

L
- o
H —_—
Conc. H,50,
Options @\
1 X N/? ~ =
H

|f’N02

NO
s
H

3 O)N E
4 e
H

Question ID : 41652910437
Option 1 ID : 41652941208
Option 2 ID : 41652941207
Option 3 ID : 41652941206
Option 4 ID : 41652941209
Status : Answered
Chosen Option : 2

Section : Mathematics

Q1 Thevalue of A such that sum of the squares

of the roots of the quadratic equation,
12+ (3—A)x+2=A has the least value is :

Options 15

L

2. 1

Question ID : 41652910467

https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083018231/208301823156D49871/15... 26/38



14/01/2019 https://cdn3.tcsion.com///per/g21/pub/2083/touchstone/AssessmentQPHTMLModel//2083018231/20830182315S6...

Option 1 ID : 41652941329
Option 2 ID : 41652941328
Option 3 ID : 41652941326
Option 4 ID : 41652941327
Status : Answered
Chosen Option : 3

Q2 The value of

COS = - 0§ X - ... COS —— - gin —
22 23 s 2]ﬂ 2]0
is :
Options

. L

512
1

2 i PO S—
1024

R | = §||—x

Question ID : 41652910493
Option 1 ID : 41652941432
Option 2 ID : 41652941430
Option 3 ID : 41652941433
Option 4 ID : 41652941431
Status : Answered
Chosen Option : 1

Q3  The curve amongst the family of curves
represented by the differential equation,
(x2—y?)dx +2xy dy=0 which passes
through (1, 1), is:

Options 1 g circle with centre on the x-axis.

, an ellipse with major axis along
~ the y-axis.
3. a circle with centre on the y-axis.

a hyperbola with transverse axis
~ along the x-axis.

Question ID : 41652910482
Option 1 ID : 41652941386
Option 2 ID : 41652941388
Option 3 ID : 41652941387
Option 4 ID : 41652941389
Status : Not Answered
Chosen Option : --

Q4 Letf:(—1,1) »Rbe a function defined by
f(x) = max {— ] =1 —rz}. If K be

the set of all points at which f is not
differentiable, then K has exactly :
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Options 1 five elements

2. one element
3. three elements

4. two elements

Question ID : 41652910476
Option 1 ID : 41652941365
Option 2 ID : 41652941362
Option 3 ID : 41652941364
Option 4 ID : 41652941363
Status : Answered
Chosen Option : 3

Qs The positive value of A for which the

co-efficient of x% in the expression
' N 10
xz(»/?+ —2] is 720, is :
x
Options | 4

2 22

4. 3

Question ID : 41652910472
Option 1 ID : 41652941349
Option 2 ID : 41652941347
Option 3 ID : 41652941346
Option 4 ID : 41652941348
Status : Not Answered
Chosen Option : --

Qe The tangent to the curve, yr:xef2 passing,

through the point (1, e) also passes through
the point :

Options 1 (2; 39)

Question ID : 41652910477
Option 1 ID : 41652941366
Option 2 ID : 41652941368
Option 3 ID : 41652941369
Option 4 ID : 41652941367
Status : Answered
Chosen Option : 2

Q.7
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Let N be the set of natural numbers and two
functions fand g be defined as
f. g : N-»>N such that

Ll

fln)=
— if n is even
2
and g(n) =n—(—1)". Then fog is :
Options 3 gnto but not one-one.
2. one-one but not onto.

3. both one-one and onto.

4. neither one-one nor onto.

Question ID : 41652910466
Option 1 ID : 41652941324
Option 2 ID : 41652941323
Option 3 ID : 41652941322
Option 4 ID : 41652941325
Status : Answered
Chosen Option : 2

28 The number of values of Be(0, ) for which
the system of linear equations
x+3y+7z=0

—x+4y+7z=0

(sin30)x + (cos20)y+2z=0

has a non-trivial solution, is:

Options 1 three

2. two

3. four

4, one
Question ID : 41652910470
Option 1 ID : 41652941339
Option 2 ID : 41652941340
Option 3 ID : 41652941338
Option 4 ID : 41652941341

Status : Not Answered
Chosen Option : --
Q.9 :
— - -
Let o = (;\ 5 2} a+b and

i o - :
B=(4r-2) a +3b be two given
Ly =
vectors where vectors a and b are
non-collinear. The value of & for which
' o
vectors « and P are collinear, is :

Options; —4
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2. =3
3. 4
4 3
Question ID : 41652910490
Option 1 ID : 41652941421
Option 2 ID : 41652941418
Option 3 ID : 41652941420
Option 4 ID : 41652941419
Status : Answered
Chosen Option : 2
Q.10 '
Two sides of a parallelogram are along the
lines, x+y=3 and x—y+3=0. If its
diagonals intersect at (2, 4), then one of its
vertex is:
Options | (3 5)
2 (2,1)
3 (2,6)
4. (3,6)
Question ID : 41652910484
Option 1 ID : 41652941397
Option 2 ID : 41652941395
Option 3 ID : 41652941394
Option 4 ID : 41652941396
Status : Answered
Chosen Option : 3
11 :
Q x 1
f(O)dt =x2 + |2 f(t) dt
If ., then
0 x
f(}4) is:
Options : 24
1. SRR
25
18
A
25
s 2
5
6
4 —
25
Question ID : 41652910481
Option 1 ID : 41652941384
Option 2 ID : 41652941382
Option 3 ID : 41652941383
Option 4 ID : 41652941385
Status : Answered
Chosen Option : 2
Q.12
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NG N5
pae oA o | IfR(2)
gy 3 D

and I(z) respectively denote the real and
imaginary parts of z, then :

Options 1. I(Z} =0
2. R(z) >0 and I(z) > 0
3. R(z)<0and I(z)>0
4. R(z)=-3

Question ID : 41652910468
Option 1 ID : 41652941333
Option 2 ID : 41652941330
Option 3 ID : 41652941331
Option 4 ID : 41652941332
Status : Answered
Chosen Option : 2

Q13 f the probability of hitting a target by a
. 1
shooter, in any shot, is 3’ then the
minimum number of independent shots at
the target required by him so that the
probability of hitting the target atleast once
: 5 .
is greater than Pl
Options ¢ 3
2. 6
3.5
4. 4
Question ID : 41652910492
Option 1 ID : 41652941426
Option 2 ID : 41652941429
Option 3 ID : 41652941428
Option 4 ID : 41652941427
Status : Answered
Chosen Option : 1
Q.14 : i 3
If o el fix)+C,
48
where C is a constant of integration, then
f(x) is equal to:
Options | _ 213 =1
2. —4x3 -1
3. —=2x3+1
4 43+1

Question ID : 41652910479
Option 1 ID : 41652941374
Option 2 ID : 41652941375
Option 3 ID : 41652941377
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Option 4 ID : 41652941376
Status : Answered
Chosen Option : 4

Q15 If the area of an equilateral triangle
inscribed in the circle,
12 +y2+10x +12y +c=01is 27,/3 sq. units
then cisequal to:
Options ¢ 13
220
3. =25
4. 25
Question ID : 41652910485
Option 1 ID : 41652941398
Option 2 ID : 41652941399
Option 3 ID : 41652941401
Option 4 ID : 41652941400
Status : Answered
Chosen Option : 3
Q.16 . .
Consider the following three statements :
P : 5 is a prime number.
Q - 7 isa factor of 192,
R - L.C.M of 5 and 7 is 35.

Then the truth value of which one of the
following statements is true ?

Options | (~P)v(QAR)
2 (PAQ)v(~R)
3. (~P)~(~QAR)
4 Pv(~QaR)

Question ID : 41652910495
Option 1 ID : 41652941441
Option 2 ID : 41652941438
Option 3 ID : 41652941439
Option 4 ID : 41652941440
Status : Answered
Chosen Option : 1

QY7 The length of the chord of the parabola
x2=4y having equation
x-2 ¥+ 42 =0 is:

Options1

342

2. 211
3. 842

63

&>

Question ID : 41652910487
Option 1 ID : 41652941406
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Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

: 41652941407
41652941409
: 41652941408
Not Answered
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Q.18
2 b 1
Let A=|b b%+1 b|whereb>0.
1 b 2
‘det (A
the minimum value of & is:

b
Options | 2\;@

2. ._ 24’5
2 _ 5
4. JE’;_

Then

Question ID :
Option 1 ID :
Option 21D :
Option 31D :

Option 4 ID

41652910469
41652941337
41652941334
41652941335

: 41652941336
Status :
Chosen Option :

Not Answered

Q.19 Let

2
B B o S
S (x,y)eR.HI e

wherer # + 1. Then S represents :

Options 5 hyperbola whose eccentricity is

1. 2
ﬁ,when{]f-r': 1.

an ellipse whose eccentricity is

2. . 2
,whenr=>1.
r+1

a hyperbola whose eccentricity is

3 2
ﬁ,when{] <r<1.

an ellipse whose eccentricity is
N

: 1
ﬁ,whenr =>1.
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Question ID
Option 1 ID :
Option 2 ID
Option 31D :
Option 4 ID

Status :

: 41652910486

41652941405

: 41652941402

41652941404

: 41652941403

Answered
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The plane which bisects the line segment
joining the points (=3, —3, 4) and (3,7, 6)
at right angles, passes through which one
of the following points ?

Options | (_ 2.3 5}

l Chosen Option : 3 J
Q.20 g
50 50 —r _ 50
It Z{ I cz_e,_r} —K[ c;,j]!
r=0
then K is equal to :
Options ¢ (25}2
2. 21
3. 22
4. 925
Question ID : 41652910471
Option 1 ID : 41652941342
Option 2 ID : 41652941344
Option 3 ID : 41652941343
Option 4 ID : 41652941345
Status : Answered
Chosen Option : 3
Q.21

2 (4,-17)
3. (2,1,3)
4 (4,1,-2)
Question ID : 41652910488
Option 1 ID : 41652941413
Option 2 ID : 41652941410
Option 3 ID : 41652941412
Option 4 ID : 41652941411
Status : Answered
Chosen Option : 4
Q.22
19 n
The value of cot Zco’t_l 1+ ZEP
n=1 p=1
is :
Options  °
2
19
19
2. i ¢
21
22
3. —
23
23
4, iy
22

Question ID : 41652910474
Option 1 ID : 41652941356
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Option 2 ID : 41652941357
Option 3 ID : 41652941354
Option 4 ID : 41652941355
Status : Answered
Chosen Option : 2

23 by
Q If mean and standard deviation of 5
observations x4, X, X3, x4, x5 are 10 and 3,
respectively, then the variance of 6
observations xy, x,, ... , X and — 50 is equal
to:
Options ; 5095
2. bBA.5
3. 5825
4. 507.5
Question ID : 41652910491
Option 1 ID : 41652941424
Option 2 ID : 41652941425
Option 3 ID : 41652941423
Option 4 ID : 41652941422
Status : Not Answered
Chosen Option : --
Q24 et f be a differentiable function such that
& 3 ()
re=7-219 (x50) gl
4 x
. g 1
f(1) # 4. Then lim xf{—].
x—0t X
Options

4
1. exists and equals -
2. exists and equals 4.

3. does not exist.

4. exists and equals 0.

Question ID : 41652910475
Option 1 ID : 41652941360
Option 2 ID : 41652941359
Option 3 ID : 41652941358
Option 4 ID : 41652941361
Status : Not Answered
Chosen Option : --

Q2 Two vertices of a triangle are (0, 2) and

(4,3). Ifits orthocentre is at the origin, then
its third vertex lies in which quadrant ?

Options ¢ third
2. second
3. first

4. fourth
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Question ID : 41652910483
Option 1 ID : 41652941392
Option 2 ID : 41652941391
Option 3 ID : 41652941390
Option 4 ID : 41652941393
Status : Not Answered
Chosen Option : --

Q.26 oy

The value of dx , where

_,,,,»[x] + [smx] + 4

’2

[t] denotes the greatest integer less than or
equaltot, is:

Options 1
1.—[7’:T+5)

12

1
« ¥ e ?I '-5
2 IZ(FT )

'3

3
. — (4w =3
el )

Question ID : 41652910480
Option 1 ID : 41652941380
Option 2 ID : 41652941381
Option 3 ID : 41652941378
Option 4 ID : 41652941379
Status : Not Answered
Chosen Option : --

Q27 On which of the following lines lies the
point of intersection of the line,

'x-tlzy—5=z-3

and the plane,

2 2 1
x+y+z=27?
Options .
) rH3 d—-y g+l
-3 3 -2
o i W e
1 1 -1
s ¥—1 ¥y-3 z+4
1 2 -5
N x—2 _y—-3_2z+3

Question ID : 41652910489
Option 1 ID : 41652941417
Option 2 ID : 41652941415
Option 3 ID : 41652941414
Option 4 ID : 41652941416
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Status : Answered
Chosen Option : 3

Q28 TLeta, a, ay, ..., a,, bein G.P. witha, >0
for i=1, 2, ...., 10 and S be the set of pairs
(r, k), r, keN (the set of natural numbers)
for which
log, a;" 32k log, a5 33" log, a;" 34"
log, a;" as* log, as" ag* log, ag" a;*| =0
log, a;" ag" log, ag' ag" log, ag’ ap”
Then the number of elements in 5, is :

Options | 4

2. infinitely many
3 2

418

Question ID : 41652910473
Option 1 ID : 41652941351
Option 2 ID : 41652941353
Option 3 ID : 41652941350
Option 4 ID : 41652941352
Status : Not Answered
Chosen Option : --

Q2 stk the usnal sotation. in ANAC, if

ZA+/B=120°, a=+3+1 and
h:ﬁ_1,thentheraticu_’A:ZB,is:
Options 1 7. 1
2.5
3.00:T
4. 3:1

Question ID : 41652910494
Option 1 ID : 41652941437
Option 2 ID : 41652941434
Option 3 ID : 41652941436
Option 4 ID : 41652941435
Status : Answered
Chosen Option : 2

Q.30
A helicopteris flying along the curve given

by y - x% =7, (x 2 (]). A soldier

£
2 r
shoot down the helicopter when it is nearest
to him. Then this nearest distance is :

Options Jg

1, o
6
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2. AIE
3\3

1[7
6\3

Question ID :
Option 1 ID :
Option 21D :
Option 31D :
: 41652941371

Status :
Chosen Option :

Option 4 ID

41652910478
41652941370
41652941372
41652941373

Answered
2
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